To solve __% of A is B: Change __ to x; of to * (multiplication); is to =; Do the algebra; Write as a %.											____________________
	1. __% of 40 is 10.
	2. What percent of 45 is 9?

	3. 12.4 is what percent of 124?
	4. 60 is what percent of 40?

	5. 1700 tickets have been sold of the 4000 that are for sale. What percent of 4000 is 1700?

	6. If a picture is to be reduced on a photocopier from 6.5 inches wide to 4.55 inches wide, what percent should be used?

	7. If a picture is to be enlarged on a photocopier from 6.5 inches wide to 7.8 inches wide, what percent should be used?

	8. If there are 5 ounces of contaminant in each 8000 ounces of the water, what percent is contaminant? (__% of 8000 is 5)

	9. What percent is 4/5 ?
	10. 80% of $45 = ___ ?

	11. The Bulls shot 20 three-pointers. They made 8. What was their three-point shooting percentage?

	12. 20% of the student body is Hispanic. There are 350 students. How many Hispanic students are there?
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